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1. Find a way to make five squares using 12 matchsticks.

2. Draw in two straight lines to form a total of eight triangles. Can you find more than one way of doing it?
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3. Make six triangles by moving only four matchsticks.
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4. You have eight sticks. Four of them are half the length of the other four. Lay out all the eight sticks to form three squares of equal size. There can be no loose ends sticking out!

5. Eighteen headless matchsticks were used to make these three rectangles one above another.
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Make these rectangles and then move as few matchsticks as possible to turn it into these double steps.
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How many moves did you make?

Now move as few matchsticks as possible to turn the double steps into these three single steps.
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Finally, move as few matchsticks as possible to make these three squares of different sizes.
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How many moves did you make?
6. I was making shapes with cocktail sticks. I used 28 to make 4 heptagons.
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Then I used the same number to make 4 octagons and a square. Can you do it?

7. Move five match sticks to make three squares that are the same.
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